

ITB No.: 21-101387

DEPARTMENT OF PURCHASING AND CONTRACTING
BID TABULATION

(3) Year Multiyear Contract)

ITB Name: Road Construction Signs (Three

Bid Opening: November 23, 2021

Price Schedule Opening: December 2, 2021

Korman Signs Inc

Agent: Sophia Thomas

_				Korman Signs, Inc.	
ITEM NO.	ITEM DESCRIPTION	ESTIMATED ANNUAL NUMBER OF UNITS	UNIT	UNIT PRICE	TOTAL ANNUAL AMOUNT
1	Retro Reflective Sign, with Orange background, Black border and 6-inch letters "WORKERS AHEAD" 48-inch x 48-inch roll up type with VELCRO for OVERLAY	50	EA.	<u>\$103.30</u>	<u>\$5,165.00</u>
2	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "FLAGGER AHEAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	75	EA.	<u>\$103.30</u>	<u>\$7,747.50</u>
3	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "FLAGGER (Symbol)" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	75	EA.	<u>\$103.30</u>	<u>\$7,747.50</u>
	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "ROAD WORK AHEAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	100	EA	<u>\$103.30</u>	<u>\$10,330.00</u>
	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "ROAD CLOSED AHEAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	50	EA.	<u>\$103.30</u>	<u>\$5,165.00</u>
	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "LANE CLOSED AHEAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	50	EA.	<u>\$103.30</u>	<u>\$5,165.00</u>

7	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "UTILITY WORK AHEAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	75	EA.	\$103.30	<u>\$7,747.50</u>
8	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "RIGHT LANE CLOSED AHEAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	75	EA.	\$103.30	<u>\$7,747.50</u>
9	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "LEFT LANE CLOSED" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	75	EA.	\$103.30	<u>\$7,747.50</u>
10	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "MERGE RIGHT" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	100	EA.	\$103.30	\$10,330.00
11	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "MERGE LEFT" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	100	EA.	<u>\$103.30</u>	<u>\$10,330.00</u>
12	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "DETOUR AHEAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	100	EA.	<u>\$103.30</u>	<u>\$10,330.00</u>
13	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "BUMP AHEAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	50	EA.	<u>\$103.30</u>	<u>\$5,165.00</u>
14	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "WATER ON ROAD" 48-inch x 48-inch roll-up type with VELCRO for OVERLAY	50	EA.	\$103.30	<u>\$5,165.00</u>
15	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "VELCRO OVERLAY" 500-FEET	50	EA.	\$12.00	\$600.00
16	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "VELCRO OVERLAY" 1000-FEET	50	EA.	<u>\$12.00</u>	<u>\$600.00</u>
17	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "VELCRO OVERLAY" 1500-FEET	50	EA.	<u>\$12.00</u>	\$600.00

18	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "VELCRO OVERLAY, LEFT"	50	EA.	<u>\$12.00</u>	<u>\$600.00</u>
19	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "VELCRO OVERLAY, RIGHT"	50	EA.	<u>\$12.00</u>	\$600.00
20	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "VELCROS OVERLAY, LEFT (SYMBOL)	50	EA.	<u>\$12.00</u>	<u>\$600.00</u>
21	Retro Reflective sign, with Orange background, Black border and 6-inch letters, "VELCRO for OVERLAY, RIGHT (SYSMBOL). Compatible with Velcro Sign"	50	EA.	<u>\$12.00</u>	\$600.00
22	LIGHT PADDLE STOP/SLOW PADDLE SIGN – FLASHING LED STOP/SLOW PADDLE SIGN (TWO SIDED, 24-Inch)	50	EA.	<u>\$300.36</u>	<u>\$15,018.00</u>
23	STOP/SLOW PADDLE SIGN with 7-foot Staff-Plastic with 2-piece staff	50	EA.	<u>\$65.00</u>	\$3,250.00
24	SIGN STAND, ZINC & ALUMINUM LEGS (55548UCA)	150	EA.	<u>\$93.50</u>	\$14,025.00
25	STOP/SLOW PADDLE SIGN with 7-foot Wooden Staff	50	EA.	\$60.00	<u>\$3,000.00</u>
26	TYPE III BARRICADES	25	EA	\$188.00	<u>\$4,700.00</u>
27	DETOUR (Arrow pointing RIGHT M4-10	25	EA	<u>\$54.86</u>	<u>\$1,371.50</u>
28	DETOUR (Arrow pointing LEFT, M4-10)	25	EA	<u>\$54.86</u>	<u>\$1,371.50</u>
29	ROAD CLOSED TO THRU TRAFFIC (MUTCD R11-4) Sign	25	EA	<u>\$90.00</u>	<u>\$2,250.00</u>
30	ROAD CLOSED MILES AHEAD - LOCAL TRAFFIC ONLY (MUTCD R11-3a) Sign	25	EA	<u>\$90.00</u>	\$2,250.00
31	DETOUR (ROUTE MARKERS) (MUTCD RIGHT M4-9) Sign	50	EA	<u>\$47.40</u>	<u>\$2,370.00</u>

					_	
32	DETOUR (ROUTE MARKERS) (MUTCD LEFT M4-9) Sign	50	EA	<u>\$47.40</u>	<u>\$2,370.00</u>	
33	NO LEFT TURN SYMBOL (MUTCD R3-2) Sign	25	EA	<u>\$42.50</u>	\$1,062.50	
34	SIDEWALK CLOSED (ARROW) CROSS HERE (R9-11A) Sign	50	EA	<u>\$24.17</u>	\$1,208.50	
35	MERGE LEFT SYMBOL Sign	75	EA	\$103.30	\$7,747.50	
36	MERGE RIGHT SYMBOL Sign	75	EA	\$103.30	<u>\$7,747.50</u>	
37	CENTER LANE CLOSED AHEAD Sign	50	EA	\$103.30	\$5,165.00	
38	BE PREPARED TO STOP Sign	75	EA	<u>\$103.30</u>	<u>\$7,747.50</u>	
39	LEFT TURN LANE CLOSED AHEAD Sign	75	EA	\$103.30	\$7,747.50	
40	Retro Reflective Sign, "VELCRO OVERLAY FOR NUMERICAL NUMBER 2	50	EA	<u>\$15.35</u>	\$767.50	
41	Retro Reflective Sign, "VELCROS OVERLAY, DETOUR ARROW LEFT	50	EA	<u>\$36.30</u>	\$1,815.00	
42	Retro Reflective Sign, "VELCROS OVERLAY, DETOUR ARROW RIGHT	50	EA	<u>\$36.30</u>	\$1,815.00	
	ANNUAL TOTAL			\$204,882.00		
Number of Bids Received:						
-	icipation Benchmark/GFE	Waived				
	Attendance at the Mandatory LSBE Meeting (Yes/No)		Yes			
Separate Sealed Price Schedule (Yes/No)			Yes			
Recommend award to Korman Signs, Inc., 3029 Lincoln Avenue, VA 23228.						

Renee' Witness Signature: Stevenson

Digitally signed by Renee' Stevenson Date: 2021.12.08 12:33:10 -05'00'

Agent Signature: Sophia
Thomas
Crystal

Sophia Digitally signed by Sophia Thomas
Thomas Date: 2021.12.08
12:35:26-05'00'
Digitally signed by Crystal Creekmore
Creekmore Date: 2021.12.08
12:13:19-05'00'